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1SECTION ACOMPOSITIONHaving a Company Before

GraduationRecently, having a company is becoming a fashionable

trend for students when they are still in college. However, different

people have different opinions towards this phenomenon.Having a

company before graduation can bring some advantages to the

students. Firstly, the students can earn some money and support

themselves. That will raise their independent and exploring spirit.

Secondly, the companies can serve as an important channel for the

students to communicate with the out world. Finally, the students

can learn some real experience which they cannot learn in

college.However, the negative effects of having a company before

graduation should not be neglected. To run a company will cost

much time which should be spent on studying.The main task of

students is studying, that’s why many students abandoned the

company and returned to classes. In addition, students lack financial

support and economic knowledge to handle a company.In my

opinion, to some extend, we should encourage students to have a

company in order to gain some experience and money. But after all,

the major part of the students’ energy should be put on their

studying.SECTION B NOTE-WRITINGMay 3Dear Mr. Charles,

Could you please supply me with one photograph of yourself? I

realize I do not have one for your file and it is important that we have



a photograph of you on file. If it is not bothering, please send it to me

as soon as possible. Thank you.Mary SmithSecretary of the

BoardPART Ⅲ LISTENING COMPREHENSION1. 答案 A【试

题分析】本题是细节题。【关键词语】 visited,is planning【详

细解答】本题的关键是Samuel到了New York没有。Samuel is

planning to go to Chicago and Philadelphia.说明他还没去，可先

排除。后有Now he is on plane.说明他还在去New York的路上

，这是选择只去了Dallas的关键所在。2. 答案 D【试题分析】

本题是语义识别题。【关键词语】 cause,collapse【详细解答

】如果听到cause这个词，问题可以迎刃而解。其实可以根据

一般常识来作判断，A、B、C三项明显是干扰部分，应不为

所动。当然，如果不能理解collapse的意思，还是选不出正确

答案。3. 答案 A【试题分析】本题是一般推理题。【关键词

语】 won’t,unless【详细解答】解答本题的关键是转两个弯

，即否定之否定，回到陈述语气，这是肯定Professor Casey的

关键作用。B、C、D三项都是一种预测而未发生的事，只

有A项就事论事，是正确答案。4. 答案 C【试题分析】本题是

一般推理题。【关键词语】 delighted,exchange...for【详细解答

】本题的关键是听清exchange her job in Los Angeles,说明Alice目

前在Los Angeles,而她却希望exchange...for one (job) in Berlin,因

此，Alice不是想改变她目前在Los Angeles的工作，也不是想去

欧洲找工作，而是把目前在Los Angeles的工作换成Berlin的工

作。5. 答案 D【试题分析】本题是间接推理题。【关键词语

】 since,took【详细解答】本题叙说John自从上了英语课后

，writing提高了，A项明显不正确，B项说法有些过分，单凭

提高一词不能说明他已经是good了；C项是说John目前的感受



，不能从句中判断出这一点。所以D项最合句意。6. 答案 B【

试题分析】本题是词义辨析题。【关键词语】 under the

weather【详细解答】如果理解under the weather是身体不适的

意思，那么本题就容易做了。所有与weather有关的选项都不

对，只有B项正确。7. 答案 B【试题分析】本题是间接推理题

。【关键词语】 half,one quarter of a million【详细解答】虽然

这次活动只收到了预期中的一半效果,但也有百万的四分之一

即25万，所以预期收益应是50万，选B项。8. 答案 B【试题分

析】本题是一般推理题。【关键词语】 brighter than need【详

细解答】“比需要的更亮”即人们使用的灯泡亮度大于必需

的亮度。A项指灯泡数量多了；C项指比以前使用灯泡更亮

；D项指灯泡需求量上升了，均不合句意。 100Test 下载频道
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